5 @ (@ p @ Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
2,874 %10 = 5,618 x 10000 =
6,498 x 100 = 2,029 x 10000 =
4,78 x 100 = 9,725 x 100 =
10, 676 x 10000 = 1,936 x 100 =
1,25 %1000 = 8,501 x 100 =
4,203 x 1000000 = 9,214 x 1000000 =
2,568 x 10000 = 3, 104 x 100000 =
2,453 x 100000 = 2,685 %100 =
2,205 x 100 = 8,176 x 10 =
1, 183 x 10000 = 8,49 x 1000000 =
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5 @ (@ p % Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
2,874 x 10 = 28.74 5,618 x 10000 = 56180
6,498 x 100 = 649.8 2,029 x 10000 = 20290
4,78 x 100 =478 9,725 x 100 = 972.5
10, 676 x 10000 = 106760 1,936 x 100 = 193.6
1,25 > 1000 = 1250 8,501 x 100 = 850.1
4,203 x 1000000 = 4203000 9,214 x 1000000 = 9214000
2,568 x 10000 = 25680 3, 104 x 100000 = 310400
2,453 x 100000 = 245300 2,685 x 100 = 268.5
2,205 x 100 = 220.5 8,176 x 10 =81.76
1, 183 x 10000 = 11830 8,49 x 1000000 = 8490000
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